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qRqRfi ftfrq-{fi wr sdil *? criqfrs ftRq cm i
renm-mth ftRq s-fi d+ ft-q +dr t?

7. (i) Discuss the components of balance of payment.

(ii) Explain the concept of purchasing power parity.

(i) yrdrq {-g.d-{ + qesr" 6 !-d 6frs

(ii) o.c nk wnr d rqunw d qqsrEqr
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Answer any 5 questions.

All questions are divided into sections A and B.
Attempt any 5 questions out of 7 questions from each

of the sections. Section A has short answer questions
and each carries 5 marks whereas Section B contains
long answer questions and each carries l0 marks.

4. .Answers may be written either in English or Hindi;
but the same medium should be used throughout the
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SECTION_A

Explain why the ,IS- curve slopes down and to thp

right.

q{f,rs fr ts qr *i st( Er{ nk w} tqr gur irtr ir

If the demand for money is independent of the interest

rate, is the LM-curve vertical or horizontal?

qE gsr d qm qrq <t i F€ I t] wt LM-Ti6 FT(T(

qr fiRo *m *?

(a) Derive aggregate supply relationship with the help

of wage setting and price setting relations.

(b) Explain the concept of crowding out effect with

the help of the IS-LM framework.

(sr) q-qt-ffi<ur 9L 4a6-ftfqur t-fit S qurril t
ffi{-fH qEu <sq qtr

(c) IS-LM ari 6 r-rs t mrsBl srcd vqn fr srqsRql

d qrer otr

What are the short-run and medium-run effects of an

expansionary monetary policy (one-time increase

in the nominal money supply), using the AD-AS

framework.

rffir cFr-{{{ Xffi ari ot sqfr.r fit Eq fr(flIfsra *tr6
ffR (qrrqra Tir {ffi t c6.qR d Ek) * ilflcrd-{ flk

qtrcq'r$-{ ctIR flr S?

What does the traditional Phillips-curve show? How

does the expectations-augmented Philips curve from

the traditional Phillips curve?
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3 Suppose that the markup of goods prices over marginal

cost is 5 o/o and that the wage setting equation is

W = P(l-u), where u is the unemployment rate.

(i). What is the real wage, as determined by the
price-setting equation?

(ii) What is the natural rate of unemployment?

(iii) Suppose that the markup ofthe prices over costs

increases to loo/o. What happens to the nature

rate of unemployment? Explain the logic behind
your answer.

crc. fr&s fr ffid tIFRr rR qtir d ffcit'i5r qrdsc s%

* ft cc-(t-Aqfwr qfrq"<ur w = p(l-u) *, wa u tM
c( tr

(i) frrd-Mror vfi-olor snr ffulRd qrtafu+' rclt er
*?

(ii) tM d crrRo' E{ wr +?

(iii) rtT des fr dr{ra + irfu+. *qdt- or qrdsrq rov"

ir[.' ir6 tlr *r ttrsrnn fr n-rh s( 6,r flr *dr *?
eic* Tfr( + ft& Rd s€ stt

What is the natural rate of unemployment? If the
labour force is 150 million and the natural rate of
unemployment is 5% then find the natural level of
employment.

tM d crfR-6 E( flr *? qR cm qf, lso frftT{ *
*{ iM 6 crfRq' ?( s% I A +mIrR sr yrfR-+' Rr
ara frfrqr

Define aggregate demand. What are the determinants
of aggregate demand?

rrrf zrm d qR{rR-d qir qrq qm * ftlkm.wr *?

Define unemployment. Discuss the two principal costs
of unemployinent.

tM qr *? tforrnt d i rg< mrr& cr dd 6tr

Explain the relationship between the current, capital
account and financial accounts.

qqrer+ str {fi Er+ *{ ffi Er+ * fi-q uqri 6 qrqr
eir

Explain the concept of J-curve.

J-{fi * ff.ltrnrrr 6 qrcqr otr
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Section-B

The following equations describe an economy (C, I, G

etc., as being measured in billions and ias a

percentage)

c = 0.8(l-t)Y

t = 0.25

I = 900-50i

G:800

L = 0.25Y -62.5i

M/P : 500

(i) What is the equation that describes the IS-curve?

(ii) What is the general definition of IS-curve?

(iii) What is the equation that describes the LM-

cu rv e?

(iv) What is the general definition of the LM-curve?

(v) What are the equilibrium levels of income and

interest rate?

ffifur (fi-*-{ul q6' il+q-{en qil qllc. s'.A I (c, t, c

EilrR * fifrqq + rIrII Gtir i *{ i + ffirn * w {)

c = 0.8(l-t)Y

t:0.25

I:900-50i
G:800

L : 0.25v 62.5i

M/P. = 500

(i) ls-{fi 6r q+{ 6d qrdr (fl6rul Hr t?

(ii) Is-{m * qrqrq qforqr wr t?

(iii) LM-{fi 6I qola. e,,A qrdr (fi-6-rul flr *?

(iv) LM-Tfi qfrnqr wr ll

(u) srq (v) u1t erw rt (i) + <gil< wt er i?

What is the monetary policy? Does an increase in the

money supply have strong or weak effect when tho

LM curve is steeper than normal?

ffo' ffR qqr tr wq LM-Tfi qFIFq + flEq' ff{
zflFlcrc A-dr * A wr T{r fH i gtr qr q.s{r qr E{q}t

yqs q.siT l?
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